
f(t) = L−1 {F (p)} F(p) = L{f(t)}

δ(t) 1

1(t)
1
p

e−αt 1
p+ α

sinωt
ω

p2 + ω2

cosωt
p

p2 + ω2

e−αt sinωt
ω

(p+ α)2 + ω2

e−αt cosωt
p+ α

(p+ α)2 + ω2

tn
n!

pn+1

tne−αt n!
(p+ α)n+1

t cosωt
p2 − ω2

(p2 + ω2)2

t sinωt
2ωp

(p2 + ω2)2

sinhϕt
ϕ

p2 − ϕ2

coshϕt
p

p2 − ϕ2

t sinhϕt
2ϕp

(p2 − ϕ2)2

t coshϕt
p2 + ϕ2

(p2 − ϕ2)2

Tabulka 1: Tabulka Laplaceovy transformace



f(n) = Z−1 {F (z)} F(z) = Z {f(n)}

δ(n) 1 1

1(n)
1

1− z−1
z

z − 1

an 1
1− az−1

z

z − a

nan−1 z−1

(1− az−1)2
z

(z − a)2

(n+ 1)an 1
(1− az−1)2

z2

(z − a)2

n
z−1

(1− z−1)2
z

(z − 1)2

n2
z−1(1 + z−1)
(1− z−1)3

z(z + 1)

(z − 1)3

an sinnϑ
az−1 sinϑ

1− 2az−1 cosϑ+ a2z−2
az sinϑ

z2 − 2az cosϑ+ a2

an cosnϑ
1− az−1 cosϑ

1− 2az−1 cosϑ+ a2z−2
z2 − az cosϑ

z2 − 2az cosϑ+ a2

an sinhnϕ
az−1 sinhϕ

1− 2az−1 coshϕ+ a2z−2
az sinhϕ

z2 − 2az coshϕ+ a2

an coshnϕ
1− az−1 coshϕ

1− 2az−1 coshϕ+ a2z−2
z2 − az coshϕ

z2 − 2az coshϕ+ a2

Tn(x)
1− xz−1

1− 2xz−1 + z−2
z2 − xz

z2 − 2xz + 1

Un−1(x)
z−1

1− 2xz−1 + z−2
z

z2 − 2xz + 1

Tabulka 2: Tabulka Z-transformace


